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AVERAGE

 [ vkSlr ]
1. The average marks of 32 boys fo section A of class

X is 60 whereas the average marks of 40 boys of
section B of class X is 33. The average marks for
both the sections combined together is ?

d{kk 10 ds [k.M A ds 32 Nk=kksa dk vkSlr 60 rFkk [k.M
B d s
40 Nk=kksa dk vkSlr 33 gSA nksuksa d{kkvksa dk vkSlr Kkr djsa
?
(a) 44 (b) 45
(c) 46½ (d) 45½

2. A man bought 13 articles at Rs. 70 each, 15 at
Rs. 60 each and 12 at Rs. 65 each. The average
price per article is ?

,d O;fDr us 13 oLrq,¡ :i;s 70 izfr oLrq ds Hkko ls] 15

oLrq,¡ :i;s 60 izfr oLrq ds Hkko ls rFkk 12 oLrq,¡ :i;s 65

izfr oLrq ds Hkko ls [kjhnhaA izR;sd oLrq dk vkSlr ewY; Kkr
djsa ?
(a) Rs. 60.25 (b) Rs. 64.75
(c) Rs. 65.75 (d) Rs. 62.25

3. A fruit seller sold big, medium and small sized
apples for Rs. 15, Rs. 10 and Rs. 5 respectively.
The total number of apples sold were in the ratio
3 : 2 : 5. Find the average cost of an apple ?

,d iQy foØsrk us cM+s] eè; rFkk NksVs vkdkj ds lsc :i;s
15, :i;s 10 rFkk :i;s 5 ds Hkko ls cspsA dqy lsc 3 : 2

: 5 ds vuqikr esa csps x;sA lsc dk vkSlr ewY; Kkr djsa ?
(a) 8 (b) 10
(c) 9 (d) 7

4. A man purchased 7 bags of rice at the rate of Rs.
800 each, 8 bags of rice at Rs. 1000 each and 5
bags of rice at the rate of 1200 each. What is the
average cost of one bag of rice ?

,d O;fDr us pkoy ds 7 FkSyksa esa izR;sd :i;s 800 dk] 8
FkSyksa esa izR;sd :i;s 1000 dk rFkk 5 FkSyksa esa izR;sd :i;s
1200 dk [kjhnk] rks crk;sa pkoy ds ,d FkSys dh vkSlr
dher D;k gksxh ?

(a) Rs. 1000 (b) Rs. 980
(c) Rs. 1120 (d) Rs. 1050

5. Three science class A, B and C take a Life Science
test. The average score of class A is 83. The
average score of class B is 76. The average score
of class C is 85. The average score of class A and
B is 79 and average score of class B and C is 81.
Then the average score of classes A, B and C is ?

foKku fo"k; dh rhu d{kk,¡ A, B vkSj C thou&foKku dh

ijh{kk nsrh gSaA d{kk A ds vkSlr dk vad 83 gSA d{kk B ds
vkSlr dk vad 76 gSA d{kk C ds vkSlr dk vad 85 gSA
d{kk A vkSj B ds vkSlr vad 79 vkSj d{kk B vkSj C ds
vkSlr vad 81 gSaA d{kk A, B vkSj C ds vkSlr vad fdrus
gSa ?
(a) 80 (b) 80.5
(c) 81 (d) 81.5

6. The average of marks scored by the students of a
class is 68. The average of marks of the girls in
the class is 80 and that of boys is 60. What is
the percentage of boys in the class ?

fdlh d{kk ds fo|kfFkZ;ksa dk vkSlr 68 gSA Nk=kkvksa dk vkSlr
80 rFkk Nk=kksa dk vkSlr 60 gSA d{kk esa Nk=kksa dk izfr'kr
Kkr djsa ?
(a) 40% (b) 60%
(c) 65% (d) 70%

7. The average weight of 15 students in a class
increases by 1.5 kg when one of the students
weighing 40 kg is replaced by a new student.
What is weight (in kg) of the new student ?

15 fo|kfFkZ;ksa dk vkSlr otu 1.5 c<+ tkrk gS] tc 40 fdyks
ds ,d fo|kFkhZ dks ,d u;k fo|kFkhZ izfrLFkkfir djrk gSA u;s
fo|kFkhZ dk otu Kkr djsa ?
(a) 64.5 kg (b) 56 kg
(c) 60 kg (d) 62.5 kg

8. There are 50 students in a class. Their average
weight is 45 kg. When one student leaves the
class the average weight reduced by 100 g. What
is the weight of the student who left the class ?

fdlh d{kk esa 50 fo|kFkhZ gSaA mudk vkSlr otu 45 fdyks
gS tc ,d fo|kFkhZ d{kk ls pyk tkrk gS] vkSlr otu 100

xzke de gks tkrk gSA ml fo|kFkhZ dk otu Kkr djsa] tks d{kk
ls pyk tkrk gS ?
(a) 45 kg (b) 47.9 kg
(c) 49.9 kg (d) 50.1 kg

9. The average age of 45 persons is decreased by 
1

9

year when one of them of 60 years is replaced by
a new comer. Then the age of the new comer is ?

45 O;fDr;ksa dh vkSlr mez 
1

9
 o"kZ de gks tkrh gS] tc

muesa ls ,d O;fDr ftldh mez 60 o"kZ gS dks ,d vU;
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O;fDr ls izfrLFkkfir fd;k tkrk gSA u;s O;fDr dh mez Kkr
djsa  ?
(a) 45 years (b) 55 years
(c) 59 years (d) 49 years

10. The average weight of the 8 oarsmen in boat is
increased by 1½ kg when one of the crew who
weight 60 kg is replaced by a new man. The weight
of the new man (in kg) is ?

8 tgkt&dehZ dk vkSlr otu 1½ fdyks c<+ tkrk gS] tc
,d tgkt&dehZ ftldk otu 60 fdyks gS dks ,d u;k
O;fDr izfrLFkkfir djrk gSA u;s O;fDr dk otu Kkr djsa ?
(a) 70 kg (b) 68 kg
(c) 71 kg (d) 72 kg

11. The average weight of 12 crewmen in a boat is

increased by 
1

3
 kg. when one off the crewman

whose weight is 55 kg is replaced by a new man.
What is weight of that new man ?

12 ukfodksa dk vkSlr otu 
1

3
 fdyks c<+ tkrk gS] tc 1

ukfod ftldk otu 55 fdyks gS] dks vU; O;fDr izfrLFkkfir
djrk gSA u;s O;fDr dk otu Kkr djsa ?
(a) 58 kg (b) 60 kg
(c) 57 kg (d) 59 kg

12. Average age of 8 men is increased by 3 years when
two of them whose age are 30 and 34 years are
replaced by 2 persons. What is the average age
of the 2 persons ?

8 O;fDr;ksa dh vkSlr vk;q 3 o"kZ c<+ tkrh gS] tc 2 O;fDr
ftudh vk;q 30 o"kZ rFkk 34 o"kZ gS dks vU; 2 O;fDr;ksa }kjk
izfrLFkkfir fd;k tkrk gSA 2 O;fDr;ksa dh vkSlr vk;q Kkr
djsa ?
(a) 24 years (b) 32 years
(c) 44 years (d) 48 years

13. The average weight of 15 oarsmen in a boat is
increased by 1.6 kg when one of the crew, whose
weights 42 kg is replaced by a new man. Find
the weight of the new man (in kg) ?

15 ukfodksa dk vkSlr otu 1.6 fdxzk- c<+ tkrk gS] tc 42

fdxzk- otu okys ,d ukfod ds cnys ,d u;k ukfod vk
tkrk gS] rks u;s ukfod dk otu Kkr djsa ?
(a) 65 (b) 66
(c) 43 (d) 67

14. Out of 10 teachers of a school, one teacher retires
and in place of him a new teacher 25 years old
joins. As a result of it average age of the teachers
reduces by 3 years. Age of the retired teacher (in
yrs.) is ?

,d Ldwy ds 10 f'k{kdksa esa ls ,d f'k{kd lsokfuòÙk gks tkrk
gS vkSj mlds LFkku ij ,d u;k 25 o"khZ; f'k{kd lsok xzg.k
dj ysrk gSA ifj.kkeLo:i f'k{kdksa dh vkSlr vk;q 3 o"kZ

de gks tkrh gSA lsokfuoÙ̀k f'k{kd dh vk;q fdruh (o"kks± esa)
gS ?
(a) 55 (b) 65
(c) 45 (d) 75

15. The average weight of 20 students in a class is
increased by 0.75 kg when one student is 35 kg
replaced by a new student weight of the new
student (in kg) is ?

20 fo|kfFkZ;ksa dk vkSlr otu 0.75 fdyks c<+ tkrk gS] tc
,d fo|kFkhZ }kjk ftldk otu 35 fdyks gS] dks ,d vU;
fo|kFkhZ }kjk izfrLFkkfir fd;k tkrk gSA u;s fo|kFkhZ dk otu
Kkr djsa ?
(a) 35 (b) 40
(c) 45 (d) 50

16. In a class, there are 40 boys and their average
age is 16 years. One boy, aged 17 years, leaving
the class and another joining, the average age
becomes 15.875 years. The age of the new boys
is ?

,d d{kk esa 40 yM+ds gSa rFkk mudh vkSlr vk;q 16 o"kZ gSA
,d yM+dk ftldh vk;q 17 o"kZ gS] d{kk ls pyk tkrk gS
rFkk ,d vU; yM+dk d{kk esa lEefyr gks tkrk gSA rks vkSlr
vk;q 15.875 o"kZ gks tkrh gSA rks u;s yM+ds dh vk;q D;k
gS ?
(a) 12 years (b) 14.5 years
(c) 15 years (d) 17 years

17. The average age of 8 persons is increased by 2
years, when one of them, whose age is 24 years
is replaced by a new person. The age of the new
person is ?

8 O;fDr;ksa dh vkSlr vk;q 2 o"kZ c<+ tkrh gS] ;fn muesa ls
,d ftldh vk;q 24 o"kZ gS] dks nwljs O;fDr ls izfrLFkkfir
fd;k tkrk gSA nwljs O;fDr dh vk;q Kkr djsa ?
(a) 42 years (b) 40 years
(c) 38 years (d) 45 years

18. The average age of 8 men is increased by 2 years
when two of them whose age are 21 and 23 years
replaced by two new men. The average age of the
two new men is ?

8 O;fDr;ksa dh vkSlr vk;q 2 o"kZ c<+ tkrh gS] ;fn muesa ls
nks O;fDr;ksa ftudh vk;q 21 o"kZ vkSj 23 o"kZ gS] dks nks u;s
O;fDr;ksa ls izfrLFkkfir fd;k tkrk gSA nks u;s O;fDr;ksa dk
vkSlr Kkr djsa ?
(a)  22 years (b) 24 years
(c) 28 years (d) 30 years

19. The average age of 30 boys in a class is 15 years.
One boy, aged 20 years, left the class, but two
new boys came in his place whose age differ by 5
years. If the average age of all boys now in the
class becomes 15 years, the age of the younger
newcomer is ?

,d d{kk esa 30 Nk=kksa dh vkSlr vk;q 15 o"kZ gSA ,d Nk=k
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ftldh vk;q 20 gS] d{kk NksM+ nsrk gSA nks u;s fo|kFkhZ mlds
LFkku ij d{kk esa vkrs gSa] ftudh vk;q esa 5 o"kZ dk vUrj
gSA ;fn d{kk esa mifLFkr Nk=kksa dk u;k vkSlr 15 o"kZ gks] rks
d{kk esa vk;s NksVs Nk=k dh mez Kkr djsa ?
(a)  20 years (b) 15 years
(c) 10 years (d) 8 years

20. The average weight of 12 parcels is 1.8 kg.
Addition of another new parcel reduces the
average weight by 50 g. What is the weight of
the new parcel ?

12 caMyksa dk vkSlr otu 1.8 fdyks gSA ,d u;s caMy ds
lfEefyr gksus ds dkj.k vkSlr otu 50 xzke de gks tkrk
gSA u;s caMy dk otu Kkr djsa ?
(a) 1.5 kg (b) 1.10 kg
(c) 1.15 kg (d) 1.01 kg

21. Out of 10 teachers of a school, one teacher retires
and in his place, a new teacher of age 25 years
joins. As a result, average age of teachers reduced
by 3 years. The age of the retired teacher is ?
,d fo|ky; esa 10 vè;kidksa esa ls ,d vè;kid lsokfuòÙk
gks tkrk gS rFkk muds LFkku ij ,d u;s vè;kid ftudh
vk;q 25 o"kZ gS] lfEefyr gksrk gSA ifj.kkeLo:i] vè;kidksa
dh vk;q dk vkSlr 3 o"kZ ?kV tkrk gSA lsokfuo`Ùk vè;kid
dh vk;q Kkr djsa ?
(a) 50 years (b) 55 years
(c) 58 years (d) 60 years

22. Average weight of 25 persons is increased by 1
kg when one man weighing 60 kg is replaced by a
new person. Weight of new person is ?
25 O;fDr;ksa dk vkSlr otu 1 fdyks c<+ tkrk gS] tc 1
O;fDr ftldk otu 60 fdyks gS] dks 1 vU; O;fDr izfrLFkkfir
djrk gSA u;s O;fDr dk otu Kkr djsa ?
(a) 50 kg. (b) 61 kg.
(c) 86 kg. (d) 85 kg.

23. There are 50 students in a class. One of them
weighing 50 kg goes away and a new student
joins. By this the average weight of the class
increases by ½ kg. The weight of the new student
is ?
,d d{kk esa 50 fo|kFkhZ gSaA ,d fo|kFkhZ ftldk otu 50
fdyks gS] pyk tkrk gS ,oa u;k fo|kFkhZ vkrk gSA ftlls d{kk
dk vkSlr otu ½ fdyks c<+ tkrk gSA u;s fo|kFkhZ dk otu
Kkr djsa ?
(a) 70 kg (b) 72 kg
(c) 75 kg (d) 76 kg

24. The average age of 11 players of a cricket team is
increased by 2 months when two of them aged
18 years and 20 years are replaced by two new
players. The average age of the new players is ?
,d fØdsV Vhe ds 11 f[kykfM+;ksa dh vkSlr vk;q 2 ekg c<+
tkrh gS] tc Vhe ds nks f[kykfM+;ksa ftudh vk;q 18 o"kZ rFkk
20 o"kZ gS] dks nks vU; f[kykfM+;ksa }kjk izfrLFkkfir fd;k tkrk
gSA u;s f[kykfM+;ksa dh vkSlr vk;q Kkr djsa ?
(a) 19 year 1 month (b) 19 year 6 month
(c) 19 year 11 month (d) 19 year 5 month

25. If the average weight of 6 students is 50 kg. If
two student of average weight of 51 kg added
and other students of average weight of 55 kg

also added then the average weight of all
students is ?
6 fo|kfFkZ;ksa dk vkSlr otu 50 fdyks gS] 2 fo|kfFkZ;ksa dk
vkSlr otu 51 fdyks rFkk 2 vkSj fo|kFkhZ ftudk vkSlr
otu 55 fdyks gS] 'kkfey gks tkrs gSaA rc lHkh fo|kfFkZ;ksa dk
vkSlr otu Kkr djsa ?
(a) 61 kg (b) 51.5 kg
(c) 52 kg (d) 51.2 kg

26. There were 24 students in a class. One of them,
who was 18 years old, left the class and his place
was filled up by a newcomer. If the average of
the class thereby, was lowered by one month,
the age of the newcomer is ?
,d d{kk esa 24 fo|kFkhZ gSaA muesa ls ,d ftldh vk;q 18
o"kZ gS] d{kk NksM+ nsrk gS rFkk ,d u;k fo|kFkhZ lfEefyr gksrk
gSA ftlds dkj.k d{kk dk vkSlr 1 ekg de gks tkrk gSA u;s
fo|kFkhZ dh vk;q Kkr djsa ?
(a) 14 years (b) 15 years
(c) 16 years (d) 17 years

27. From a class of 24 boys, a boy, aged 10 years,
leaves the class and in his place a new boys is
admitted. As a result the average age of the class
is increased by 2 months. What is the age of the
new boy ?
24 Nk=kksa dh ,d d{kk esa] ,d Nk=k ftldh vk;q 10 o"kZ gS
d{kk esa ls pyk tkrk gS ,oa ,d u;k Nk=k lfEefyr gks tkrk
gSA ftlds dkj.k d{kk dh vkSlr vk;q 2 ekg c<+ tkrh gSA
u;s Nk=k dh vk;q Kkr djsa ?
(a) 12 years (b) 15 years
(c) 14 years (d) 13 years

28. The average marks of 100 students were found
to be 40. Later on it was discovered that a score
of 53 was misread as 83. Find the correct average
corresponding to the correct score ?
100 fo|kfFkZ;ksa ds vkSlr vad 40 gSaA ckn esa Kkr gqvk fd
=kqfV ds dkj.k 53 dks 83 vafdr fd;k x;kA lgh vkSlr Kkr
djsa ?
(a) 38.7 (b) 39
(c) 39.7 (d) 41

29. While finding the average of 10 given numbers a
student, by mistake, wrote 64 in place of a
number 46 and got his average 50. The correct
average of the given numbers is ?
,d fo|kFkhZ tc 10 la[;kvksa dk vkSlr Kkr djrk gS rks =kqfV
ds dkj.k 46 ds LFkku ij 64 fy[k nsrk gS rFkk vkSlr 50
izkIr djrk gSA lgh vkSlr Kkr djsa ?
(a) 48.2 (b) 48.3
(c) 49.1 (d) 49.3

30. The average of 10 numbers is calculated as 15.
It is discovered later on the while calculating
the average one number, namely 36, was wrongly
read as 26. The correct average is ?
10 la[;kvksa dk vkSlr 15 Kkr fd;k x;kA ckn esa Kkr gqvk
fd vkSlr Kkr djrs le; ,d la[;k 36 ds LFkku ij 26
vafdr dj nh xbZA lgh vkSlr Kkr djsa ?
(a) 20 (b) 18
(c) 16 (d) 14

31. A student finds the average of ten 2 digit
numbers. While copying numbers, by mistake he
writes one number with its digits interchanged.
As a result his answer is 1.8 less than the correct
answer. The difference of the digits of the number,
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in which he made mistake is ?
,d Nk=k 2 vadksa okyh nl la[;kvksa dk vkSlr Kkr djrk
gSA ckn esa Kkr gqvk fd =kqfV ds dkj.k fdlh la[;k ds vad
vkil esa cny tkrs gSaA ftlds dkj.k mldk ifj.kke 'kq¼
ifj.kke ls 1.8 de vkrk gSA la[;k ds vadksa dk varj Kkr
djsa] ftlesa =kqfV gqbZ Fkh ?
(a) 2 (b) 3
(c) 4 (d) 6

32. In an examination, the average of marks was
found to be 50. For deducting marks for
computational errors, the marks of 100
candidates had to be changed from 90 to 60 each
and so the average of marks came down to 45.
The total number of candidates, who appeared
at the examination, was ?
fdlh ijh{kk esa] vadksa dk vkSlr 50 Kkr gqvkA ckn esa Kkr
gqvk fd =kqfV ds dkj.k 100 Nk=kksa ds vad 90 ds LFkku ij
60 vafdr gks x;sA ftlds dkj.k vadksa dk vkSlr 45 gks tkrk
gSA ijh{kk esa lfEefyr Nk=kksa dh la[;k Kkr djsa ?
(a) 600 (b) 300
(c) 200 (d) 150

33. The average weight of a group of 20 boys was
calculated to be 89.4 kg and it was later
discovered that one weight was misread as 78 kg
instead of 87 kg. The correct average weight is ?
20 Nk=kksa dk vkSlr otu 89.4 fdyks vafdr fd;k x;kA ckn
esa Kkr gqvk fd ,d eku 87 fdyks ds LFkku ij 78 fdyks
vafdr fd;k x;kA lgh vkSlr otu Kkr djsa ?
(a) 88.95 kg (b) 89.25 kg
(c) 89.55 kg (d) 89.85 kg

34. The average of 18 observations is recorded as 124.
Later it was found that two observations with
values 64 and 28 were entered wrongly as 46 and
82. Find the correct average of the 18 observations
?
18 ekiuksa dk vkSlr 124 vafdr fd;k x;kA ckn esa Kkr
gqvk fd nks ekuksa dks 64 rFkk 28 ds LFkku ij 46 rFkk 82
vafdr fd;k x;kA 18 ekiuksa dk lgh vkSlr Kkr djsa ?

(a) 111
7

9
(b) 122

(c) 123 (d) 137
3

9

35. The mean of 50 numbers is 30. Later it was
discovered that two entires were wrongly entered
as 82 and 13 instead of 28 and 31. Find the
correct mean ?

50 la[;kvksa dk vkSlr 30 gSA ckn esa Kkr gqvk fd nks ekuksa
dks 28 ,oa 31 ds LFkku ij 82 ,oa 13 vafdr fd;k x;kA
lgh vkSlr Kkr djsa ?
(a) 36.12 (b) 30.66
(c) 29.28 (d) 38.21

36. The average of 25 observations is 13. It was later
found that an observation 73 was wrongly entered
as 48. The new average is ?

25 ekiuksa dk vkSlr 13 gSA ckn esa Kkr gqvk fd =kqfV ds
dkj.k 73 dks 48 vafdr fd;k x;kA u;k vkSlr Kkr djsa ?
(a) 12.6 (b) 14
(c) 15 (d) 13.8

37. Mean of 10 numbers is 30. Later on it was
observed that numbers 15, 23 are wrongly taken
as 51, 32. The correct mean is ?

10 la[;kvksa dk ekè; 30 gSA ckn esa Kkr gqvk fd =kqfV ds
dkj.k 15, 23 dks 51, 32 vafdr fd;k x;kA lgh ekè; Kkr
djsa ?
(a) 25.5 (b) 32
(c) 30 (d) 34.5

38. The average of 27 numbers is 60. If one number
is changed from 28 to 82, the average is ?

27 la[;kvksa dk vkSlr 60 gSA Kkr gqvk fd =kqfV ds dkj.k
,d la[;k dks 28 ds LFkku ij 82 vafdr fd;k x;kA lgh
vkSlr Kkr djsa ?
(a) 56 (b) 58
(c) 62 (d) 64

39. A tabulator while calculating the average marks
of 100 students of an examination, by mistake
enters 68, instead of 86 and obstained the average
as 58; the actual average of those students is ?

,d Vad.k e'khu 100 fo|kfFkZ;ksa ds vkSlr vad Kkr djrh
gSA ckn esa Kkr gqvk fd =kqfV ds dkj.k 86 ds LFkku ij 68

vafdr djrk gS vkSj vkSlr 58 izkIr djrk gSA fo|kfFkZ;ksa dk
okLrfod vkSlr Kkr dhft, ?

(a) 58.18 (b) 57.82
(c) 58.81 (d) 57.28

40. The mean of 20 items is 47. Later it is found
that the item 62 is wrongly written as 26. Find
the correct mean ?

20 la[;kvksa dk vkSlr 47 gSA ckn esa Kkr gqvk fd =kqfV ds
dkj.k 62 dks 26 vafdr fd;k x;kA lgh vkSlr Kkr djsa ?
(a) 48.8 (b) 47.7
(c) 49.9 (d) 46.6

41. The mean value of 20 observations was found to
be 75, but later on it was detected that 97 was
misread as 79. Find the correct means ?

20 ekiuksa dk vkSlr 75 Kkr gqvkA ckn esa Kkr gqvk fd =kqfV
ds dkj.k 97 dks 79 vafdr fd;k x;kA lgh vkSlr Kkr
djsa ?
(a) 75.7 (b) 75.8
(c) 75.9 (d) 75.6

42. The mean of 100 items was 46. Later on it was
discovered that an item 16 was misread as 61
and another item 43 was misread as 34. It was
also found that the number of items was 90 and
not 100. Then what is the correct mean ?

100 la[;kvksa dk vkSlr 46 gSA ckn esa Kkr gqvk fd =kqfV ds
dkj.k 16 dks 61 rFkk 43 dks 34 vafdr fd;k x;kA ;s Hkh
Kkr gqvk fd dqy la[;k 100 ds LFkku ij 90 FkhA lgh
vkSlr Kkr djsa ?
(a) 50 (b) 50.7
(c) 52 (d) 52.7
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43. The average of seven numbers is 18. If one of the
number is 17 and if it is replaced by 31, then the
average becomes ?

lkr la[;kvksa dk vkSlr 18 gSA ;fn ,d la[;k 17 dks ,d
vU; la[;k 31 ls izfrLFkkfir fd;k tkrk gS rks u;k vkSlr
Kkr djsa ?
(a) 21.5 (b) 19.5
(c) 20 (d) 21

44. In an exam, the average marks obtained by the
students was found to be 60. After omission of
computational errors, the average marks of 100
candidates had to be changed from 60 to 30 and
the average with respect to all the examinees
came down to 45 marks. The total number of
candidates who took the exam, was ?

fdlh ijh{kk esa fo|kfFkZ;ksa ds vadksa dk vkSlr 60 Kkr gqvkA
=kqfV;ksa dks lq/kjus ds ckn 100 fo|kfFkZ;ksa dk vkSlr 60 ls 30

gks x;k rFkk lHkh fo|kfFkZ;ksa dk vkSlr 45 gks x;kA fo|kfFkZ;ksa
dh la[;k Kkr djsa ?
(a) 200 (b) 210
(c) 240 (d) 180

45. The average of 10 items was found to be 80 but
while calculating, one of the items was counted
as 60 instead of 50. Then the correct average
would have been ?

10 la[;kvksa dk vkSlr 80 Kkr fd;k x;kA ysfdu ckn esa
Kkr gqvk =kqfV ds dkj.k 50 dks 60 vafdr fd;k x;kA lgh
vkSlr Kkr djsa ?
(a) 69 (b) 79.25
(c) 79 (d) 79.5

46. The average of 9 integers is found to be 11. But
after the calculation, it was detected that, by
mistake, the integer 23 was copied as 32, while
calculating the average. After the due correction
is made, the new average will be ?

9 la[;kvksa dk vkSlr 11 gSA ckn esa Kkr gqvk fd =kqfV ds
dkj.k 23 dks 32 vafdr fd;k x;kA lgh vkSlr Kkr djsa ?
(a) 10 (b) 9
(c) 10.1 (d) 9.5

47. The average marks secured by 36 students was
52. But it was discovered that an item 64 was
misread as 46. What is the correct mean of
marks ?

36 fo|kfFkZ;ksa dk vkSlr 52 gSA ckn esa Kkr gqvk] =kqfV ds
dkj.k 64 dks 46 vafdr fd;k x;kA lgh vkSlr Kkr djsa ?
(a) 54 (b) 53.5
(c) 53 (d) 52.5

48. A student finds the average of 10, 2 digits
numbers. If the digits of one of the numbers is
interchanged, the average increases by 3.6. The
difference between the digits of the 2 digits
number is ?

nks vadksa okyh la[;kvksa dk vkSlr 10 gSA ;fn ,d la[;k ds

vadksa dks cny fn;k tkrk gS] vkSlr 3.6 ju c<+ tkrk gSA nks
vadksa okyh la[;k ds vadksa dk varj Kkr djsa ?
(a) 4 (b) 3
(c) 2 (d) 5

49. The average marks obtained by a student in 6
subjects is 88. On subsequent verification it was
found that the marks obtained by him in a
subject was wrongly copied as 86 instead of 68.
The correct average of the marks obtained by him
is ?

6 fo"k;ksa esa ,d Nk=k dk vkSlr izkIrkad 88 gSA ckn esa tk¡pus
ij ik;k x;k fd ,d fo"k; dk vad Hkwyo'k 68 ds LFkku ij
86 tksM+ fy;k x;k] rks lgh vkSlr izkIrkad Kkr djsa ?
(a) 87 (b) 86
(c) 85 (d) 84

50. The average marks of 14 students was 71. It was
later found that the marks of one of the students
has been wrongly entered as 42 instead of 56
and another as 74 instead of 32. What is the
correct average ?

14 fo|kfFkZ;ksa ds vkSlr vad 71 FksA ckn esa ;g ik;k x;k fd
,d fo|kFkhZ ds vad dks xyrh ls 56 ds LFkku ij 42 fy[k
fn;k x;k vkSj ,d vU; fo|kFkhZ ds vad dks 32 ds LFkku ij
74 fy[k fn;k x;kA lgh vkSlr D;k gS ?
(a) 68 (b) 71
(c) 67 (d) 69

51. The average of marks of 14 student was calculated
as 71. But it was later found that the marks of
two students has been wrongly entered as 42
instead of 56 and of another as 74 instead of 32.
The correct average is ?

14 fo|kfFZk;ksa dk vkSlr 71 gSA ckn esa Kkr gqvk fd vad =kqfV
ds dkj.k 56 ds LFkku ij 42 rFkk 32 ds LFkku ij 74 vafdr
gks x;kA lgh vkSlr Kkr djsa ?
(a) 67 (b) 68
(c) 69 (d) 71

52. The average of a collection of 20 measurements
was calculated to be 56 cm. But later it was
found that a mistake had occured in one of the
measurements which was recorded as 64 cm.,
but should have been 61 cm. The correct average
must be ?

20 ekiuksa dk vkSlr 56 lseh gSA ckn esa Kkr gqvk fd =kqfV
ds dkj.k ,d ekiu 56 lseh ds LFkku ij 64 lseh vafdr
fd;k x;k gSA lgh vkSlr Kkr djsa ?
(a) 53 cm (b) 54.5 cm
(c) 55.85 cm (d) 56.15

53. The mean of 50 observations was 36. It was found
later that an observation 48 was wrongly taken
as 23. The corrected (new) mean is ?

50 ekiuksa dk vkSlr 36 gSA ckn esa Kkr gqvk fd =kqfV ds
dkj.k ,d ekiu 48 ds LFkku ij 23 vafdr fd;k x;kA lgh
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vkSlr Kkr djsa ?
(a) 35.2 (b) 36.1
(c) 36.5 (d) 39.1

54. The average of marks in Mathematics for 5
students was found to be 50. Later, it was
discovered that in the case of one student the
marks 48 were misread as 84. The correct average
is ?

xf.kr esa 5 fo|kfFkZ;ksa dk vkSlr 50 gSA ckn esa Kkr gqvk fd
=kqfV ds dkj.k ,d Nk=k ds vad 48 ds LFkku ij 84 vafdr
gks x;sA lgh vkSlr  Kkr djsa ?
(a) 40.2 (b) 40.8
(c) 42.8 (d) 48.2

55. The average age of eleven cricket players is 20
years. If the age of the coach is also included,
the average age increased by 10%. The age of the
coach is ?

11 fdØsV f[kykfM+;ksa dk vkSlr 20 o"kZ gSA ;fn dksp dh
vk;q Hkh lfEefyr dj yh tk, rks vkSlr vk;q 10% c<+
tkrh gSA dksp dh vk;q Kkr dhft, ?
(a) 48 years (b) 44 years
(c) 40 years (d) 36 years

56. The mean of 9 observation is 16. One more
observation is included and the new mean
becomes 17. The 10th observation is ?

9 ekiuksa dk vkSlr 16 gSA ,d ekiu vkSj lfEefyr gksus ds
dkj.k u;k vkSlr 17 gks tkrk gSA 10ok¡ ekiu Kkr djsa ?
(a) 9 (b) 16
(c) 26 (d) 30

57. In a class, the average score of girls in an
examination is 73 and that of boys is 71. The
average score for the whole class is 71.8. Find
the percentage of girls ?

fdlh d{kk esa] Nk=kkvksa ds vadksa dk vkSlr 73 ,oa Nk=kksa ds
vadksa dk vkSlr 71 gSA iwjh d{kk dk vkSlr 71.8 Kkr gqvkA
Nk=kkvksa dk izfr'kr Kkr djsa ?
(a) 40% (b) 50%
(c) 55% (d) 60%

58. There are in all, 10 balls, some of them are red
and the others white. The average cost of all balls
is Rs. 28, average cost of red balls Rs. 25 and
that of white balls is Rs. 30, the number of white
balls is ?

10 xsanksa esa dqN yky ,oa dqN liQsn xsan gSaA lHkh xsanksa dk
vkSlr ewY; :i;s 28, yky xsanksa dk vkSlr :i;s 25 rFkk
liQsn xsanksa dk vkSlr ewY; :i;s 30 gSA liQsn xsanksa dh la[;k
Kkr djsa ?
(a) 3 (b) 5
(c) 6 (d) 7

59. The average mathematics marks of two sections
A and B of class IX in the annual examination
is 74. The average marks of section A is 77.5 and

that of section B is 70. The ratio of the number
of students of section A and B is ?

d{kk A rFkk B ds vadksa dk vkSlr 74 gSA d{kk A ds Nk=kksa
dk vkSlr 77.5 rFkk d{kk B ds Nk=kksa dk vkSlr 70 gSA d{kk
A rFkk B ds Nk=kksa dk vuqikr Kkr djsa ?
(a) 7 : 8 (b) 7 : 5
(c) 8 : 7 (d) 8 : 5

60. The mean weight of 34 students of a school is
42 kg. If the weight of the teacher be included,
the mean rises by 400 grams. Find the weight of
the teacher (in kg.) ?

,d fo|ky; esa 34 Nk=kksa dk vkSlr Hkkj 42 fdyksxzke gSA ;fn
vè;kid dk Hkkj Hkh lfEefyr dj fy;k tk, rks vkSlr 400

xzke c<+ tkrk gSA vè;kid dk Hkkj Kkr djsa ?
(a) 55 kg (b) 57 kg
(c) 66 kg (d) 56 kg

61. On mixing two classes A and B of students
having average marks 25 and 40 respectively, the
over all the average obtained is 30. Find the ratio
of the students in the class A and B ?

nks d{kkvksa A rFkk B ds vadksa dk vkSlr 25 rFkk 40 gSA nksuksa
d{kkvksa ds vadksa dk la;qDr vkSlr 30 gSA d{kk A rFkk B
ds Nk=kksa dh la[;k dk vuqikr Kkr djsa ?
(a) 2 : 1 (b) 5 : 8
(c) 5 : 6 (d) 3 : 4

62. 4 boys and 3 girls spent Rs. 120 on the average,
of which boys spent Rs. 150 on the average. Then
the average amount spent by the girls is ?

4 yM+ds rFkk 3 yM+fd;k¡ vkSlr :i ls :i;s 120 [kpZ djrs
gSaA ;fn yM+ds vkSlr :i ls :i;s 150 [kpZ djrs gSa] rks
yM+fd;ksa dk vkSlr [kpZ Kkr djsa  ?
(a) 80 (b) 60
(c) 90 (d) 100

63. There are two groups A and B of a class,
consisting of 42 and 28 students respectively. If
the average weight of group of A is 25 kg and the
of group B is 40 kg, find the average weight of
the whole class ?

fdlh d{kk esa xzqi A esa 42 rFkk xzqi B esa 28 fo|kFkhZ gSaA ;fn
xzqi A ds fo|kfFkZ;ks dk vkSlr otu 25 fdyksxzke rFkk xzqi
B ds fo|kfFkZ;ksa dk vkSlr otu 40 fdyksxzke gks] rks lEiw.kZ
d{kk dk vkSlr otu Kkr djsa ?

(a) 69 kg (b) 31 kg
(c) 70 kg (d) 30 kg

64. The average monthly salary of all the employees
in an industry is Rs. 12,000. The average salary
of male employees is Rs. 15,000 and that of
female employees is Rs. 8,000. What is the ratio
of male employees to female employees ?

fdlh daiuh ds lHkh deZpkfj;ksa dh vkSlr ekfld vk; :i;s
12,000 gSA lHkh iq:"k deZpkfj;ksa dh vkSlr vk; :i;s
15,000 rFkk lHkh efgyk deZpkfj;ksa dh vkSlr vk; :i;s
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8,000 gSA iq:"k rFkk efgyk deZpkfj;ksa dk vuqikr Kkr djsa
?
(a) 5 : 2 (b) 3 : 4
(c) 4 : 3 (d) 2 : 5

65. Average weight of 25 students of a class is 50 kg.
If the weight of the class teacher is included,
the average is increased by 1 kg. The weight of
the teacher is ?

fdlh d{kk esa 25 fo|kfFkZ;ksa ds Hkkj dk vkSlr 50 fdyksxzke
gSA ;fn vè;kid dk Hkkj Hkh lfEefyr fd;k tk;s] rks vkSlr
Hkkj 1 fdyksxzke c<+ tkrk gSA vè;kid dk Hkkj Kkr djsa ?

(a) 76 kg (b) 77 kg
(c) 74 kg (d) 75 kg

66. The average salary of all staff of a school is Rs.
10,000. The average salary of 20 teaching staff
is Rs. 12,000 and that of non-teaching staff is
Rs. 5,000 the number of non-teaching staff will
be ?

fdlh fo|ky; esa lHkh deZpkfj;ksa dh vkSlr vk; :i;s
10,000 gSA 20 vè;kidksa dh vkSlr :i;s 12,000 rFkk
vU; tks vè;kid ugha gS] dh vkSlr vk; :i;s 5,000 gSA
mu deZpkfj;ksa dh la[;k Kkr djsa tks vè;kid ugha gS ?

(a) 7 (b) 8
(c) 10 (d) 12

67. The average salary, per head, of all the workers
of an institution is Rs. 60. The average salary of
12 officers is Rs. 400; the average salary, per
head, of the rest is Rs. 56. The total number of
workers in the institution is ?

fdlh la[;k esa izR;sd deZpkjh dh vkSlr vk; :i;s 60 gSA
12 vkWfiQljksa dh vkSlr vk; :i;s 400 gS rFkk cps vkWfiQljksa
dh vkSlr vk; :i;s 56 gSA la[;k esa dqy deZpkfj;ksa dh
la[;k Kkr djsa ?
(a) 1030 (b) 1035
(c) 1032 (d) 1020

68. The average marks obtained by 40 students of a
class is 86. If the 5 highest marks are removed,
the average reduces by one mark The average
marks of the top 5 students is ?

40 fo|kfFkZ;ksa dh d{kk ds vkSlr vad 86 gSA ;fn 5 loksZÙke
vad gVk fn;s tk,] rks vkSlr 1 vad de gks tkrk gSA 5
fo|kfFkZ;ksa dk vkSlr Kkr djsa ?

(a) 92 (b) 96
(c) 93 (d) 97

69. In an examination average marks obtained by
the girls of a class is 85 and the average marks
obtained by the boys of the same class is 87. If
the girls and boys are in the ratio
4 : 5, average marks of the whole class (approx.)
is closest to ?

,d d{kk dh yM+fd;ksa dk ijh{kk esa izkIrkadksa dk vkSlr 85

gS vkSj mlh d{kk esa yM+dksa ds izkIrkadksa dk vkSlr 87 gSA ;fn

yM+fd;k¡ vkSj yM+ds 4 : 5 ds vuqikr esa gksa] rks iwjh d{kk
ds vkSlr vad (yxHkx) fdrus gSa ?
(a) 86.5 (b) 85.9
(c) 86.4 (d) 86.1

70. The average weight of first 11 persons among 12
persons is 95 kg. The weight of 12th person is 33
kg. more than the average weight of all the 12
persons. The weight of the 12th person is ?

12 yksxksa esa igys 11 yksxksa dk vkSlr otu 95 fdxzk gSA 12osa
O;fDr dk otu 12 yksxksa ds vkSlr otu ls 33 fdxzk vf/
d gSA rks 12osa O;fDr dk otu fdruk gS ?

(a) 128.75 kg (b) 131 kg
(c) 128 kg (d) 97.45 kg

71. The average marks of 50 students in a class is
72. The average marks of boys and girls in that
subject are 70 and 75 respectively. The number
of boys in the class is ?

50 fo|kfFkZ;ksa dh ,d d{kk esa vkSlr vad 72 gSA ml fo"k;
esa yM+dksa vkSj yM+fd;ksa ds vkSlr vad Øe'k% 70 vkSj 75

gksa] rks yM+dksa dh la[;k crkb, ?

(a) 30 (b) 20
(c) 35 (d) 25

72. The average age of 14 girls and their teacher's is
15. If teacher's age is excluded the average
reduces by 1. What is the teacher's age ?

14 Nk=kkvksa ,oa vè;kidksa dh vkSlr vk;q 15 o"kZ gSA ;fn
vè;kid dh vk;q gVk nh tk;s] rks vkSlr 1 o"kZ de gks tkrk
gSA vè;kid dh vk;q Kkr djsa \
(a) 35 years (b) 32 years
(c) 30 years (d) 29 years

73. The average age of four brothers is 12 years. If
the age of their mother is also included, the
average is increased by 5 years. The age of the
mother (in years) is ?

4 Hkkb;ksa dh vkSlr vk;q 12 o"kZ gSA ;fn mudh ek¡ dh vk;q
dks Hkh lfEefyr fd;k tk,] rks vkSlr 5 o"kZ c<+ tkrh gSA
ek¡ dh mez Kkr djsa ?

(a) 37 years (b) 43 years
(c) 48 years (d) 53 years

74. The average of marks obtained by 120 candidates
in a certain examination is 35. If the average
marks obtained by passed candidates are 15,
what is the number of candidates who passed
the examination ?

fdlh ijh{kk esa 120 fo|kfFkZ;ksa ds izkIrkad dk vkSlr 35 gSA
;fn mÙkh.kZ Nk=kksa dk vkSlr 39 rFk vuqÙkh.kZ Nk=kksa dk vkSlr
15 gS] rks mÙkh.kZ Nk=kksa dh la[;k Kkr djsa ?
(a) 100 (b) 120
(c) 150 (d) 140

75. The average age of 20 boys in a class is 12 years.
5 new boys are admitted to the class whose
average age is 7 years. The average age of the
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boys in the class becomes ?

,d d{kk esa 20 yM+dksa dh vkSlr vk;q 12 o"kZ gSA 5 u;s
yM+ds d{kk esa lfEefyr gksrs gSa] ftudh vkSlr vk;q 7 o"kZ
gSA d{kk esa vk;q dk u;k vkSlr Kkr djsa ?

(a) 8.2 years (b) 9.5 years
(c) 12.5 years (d) 11 years

76. There are 30 students in a class. The average
age of first 10 students is 12.5 years. The average
age of the remaining 20 students is 13.1 years.
The average age (in years) of the students of the
whole class is ?

,d d{kk esa 30 fo|kFkhZ gSA izFke 10 fo|kfFkZ;ksa dk vkSlr
12.5 o"kZ gSA vU; 20 fo|kfFkZ;ksa dk vkSlr 13.1 o"kZ gSA
lEiw.kZ d{kk dk vkSlr Kkr djsa ?

(a) 12.5 years (b) 12.7 years
(c) 12.8 years (d) 12.9 years

77. The average salary of all the workers in a
workshop is Rs. 8000. The average salary of 7
technicians is Rs. 1200 and the average salary
of the rest is Rs. 6000. The total number of
workers in the workshop is ?

,d dk;Z'kkyk esa lHkh etnwjksa dh vkSlr vk; :i;s 8,000

gSA ftlesa 7 etnwjksa dh vkSlr vk; :i;s 12,000 rFkk vU;
dh vkSlr vk; :i;s 6,000 gSA dk;Z'kkyk esa dqy etnwjksa
dh la[;k Kkr djsa ?
(a) 20 (b) 21
(c) 23 (d) 22

78. In a school, the average age of students is 6 years,
and the average age of 12 teachers is 40 years. If
average age of combined group of all the teachers
and students is 7 years, then the number of
students is ?

fdlh fo|ky; esa fo|kfFkZ;ksa dh vkSlr vk;q 6 o"kZ rFkk 12

vè;kidksa dh vkSlr vk;q 40 o"kZ gSA ;fn vè;kidksa rFkk
fo|kfFkZ;ksa dh vkSlr vk;q 7 o"kZ gks] rks fo|kfFkZ;ksa dh la[;k
Kkr djsa ?

(a) 396 (b) 400
(c) 408 (d) 416

79. The average age of 24 boys and their teacher is
15 years. When the teacher's age is excluded,
the average are decreases by 1 year. The age of
the teacher is ?

24 Nk=kksa rFkk vè;kidksa dh vkSlr vk;q 15 o"kZ gSA tc
vè;kid dh vk;q fudky nh tkrh gS] rks vkSlr vk;q 1 o"kZ
de gks tkrh gSA vè;kid dh mez Kkr djsa ?
(a) 38 years (b) 39 years
(c) 40 years (d) 41 years

80. The average score of a class of boys and girls in
an examination is A. The ratio of boys and girls
in the class is 3 : 1. If the average score of the
boys is A + 1, the average score of the girls is ?

fdlh d{kk esa Nk=k rFkk Nk=kk;ksa ds vadksa dk vkSlr A gSA

d{kk esa Nk=k rFkk Nk=kk;ksa dk vuqikr 3 : 1 gSA ;fn Nk=kksa ds
vadksa dk vkSlr A + 1 gS] rks Nk=kk;ksa ds vadksa dk vkSlr Kkr
djsa ?

(a) A + 1 (b) A – 1
(c) A + 3 (d) A – 3

81. The average age of 30 students is 9 years. If the
age of their teacher is included, the average age
becomes 10 years. The age of the teacher (in
years) is ?

30 fo|kfFkZ;ksa dh vkSlr vk;q 9 o"kZ gSA ;fn vè;kid dh
vk;q dks lfEefyr fd;k tk, rks d{kk dh vkSlr vk;q 10

o"kZ gks tkrh gSA vè;kid dh mez (o"kks± esa) Kkr djsa ?
(a) 27 (b) 31
(c) 35 (d) 40

82. The average age of 40 students of class is 18 years.
When 20 new students are admitted to the same
class, the average age of the students of the class
is increased by 6 months. The average age of
newly admitted student is ?

d{kk esa 40 fo|kfFkZ;ksa dh vkSlr vk;q 18 o"kZ gSA ;fn 20 u;s
Nk=k d{kk esa lfEefyr gksrs gSa] rks Nk=kksa dh vkSlr vk;q 6
ekg c<+ tkrh gSA u;s lfEefyr Nk=kksa dh vkSlr vk;q Kkr
djsa ?

(a) 19 years (b) 19 years 6 month
(c) 20 years (d) 20 years 6 month

83. The average age of a husband and a wife was 27
years when the child was born, the average age
of the husband, the wife and a new -born child
is 21 years now. The present age of the child is ?

ifr ,oa iRuh dh vkSlr vk;q 27 o"kZ Fkh] tc cPps dk tUe
gqvkA ifr] iRuh ,oa cPps dh orZeku vkSlr vk;q 21 o"kZ gSA
cPps dh orZeku vk;q Kkr djsa ?

(a) 4 years (b) 3 years
(c) 2 years (d) 1 year

84. In a family, the average age of a father and a
mother is 35 years. The average age of the father,
mother and their only son is 27 years. What is
the age of the son ?

fdlh ifjokj esa firk rFkk ekrk dh vkSlr vk;q 35 o"kZ gSA
firk] ekrk rFkk iq=k dh vkSlr vk;q 27 o"kZ gSA iq=k dh vk;q
Kkr djsa \
(a) 12 years (b) 11 years
(c) 10.5 years (d) 10 years

85. The average age of a husband and wife, who were
married 4 years ago, was 25 years at the time of
their marriage. The average age of the family
consisting of husband, wife and a child, born
during the interval is 20 years today. The age of
the child is ?

ifr ,oa iRuh dh vkSlr vk;q] ftudk 4 o"kZ iwoZ fookg gqvk
Fkk] fookg ds le; 25 o"kZ FkhA ifr] iRuh ,oa iq=k dh vkSlr
vk;q 20 o"kZ gSA iq=k dh orZeku vk;q Kkr djsa \
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(a) 1 year (b) 2 years
(c) 2.5 years (d) 3 years

86. Five years ago, the average age of P and Q was
25. The average age of P, Q and R today is 25.
Age of R after 5 years will be ?

ik¡p o"kZ iwoZ] P vkSj Q dh vkSlr vk;q 25 o"kZ FkhA vkt P,

Q ,oa R dh vkSlr vk;q 25 o"kZ gSA 5 o"kZ i'pkr~ R dh vk;q
Kkr djsa ?
(a) 15 years (b) 20 years
(c) 40 years (d) 35 years

87. The average age of a family of 10 members is 20
years. If the age of the youngest member of the
family is 10 years, then the average age of the
members of the family just before the birth of
the youngest member was approximately ?

10 O;fDr;ksa okys ifjokj dh vkSlr vk;q 20 o"kZ gSA ;fn
ifjokj ds lcls NksVs lnL; dh vk;q 10 o"kZ gS] rc ifjokj
dh vkSlr vk;q lcls NksVs lnL; ds tUe ds le; Kkr djsa
(a) 27.14 years (b) 12.5 years

(c) 14.28 years (d) 11
11

9
 years

88. 5 years ago, the average age of P and Q was 15
years. Average age of P, Q and R today is 20 years.
How old will R be after 10 years ?

5 lky igys] P ,oa Q dh vkSlr vk;q 15 o"kZ gSA P, Q ,oa
R dh vkSlr vk;q 20 o"kZ gSA 10 o"kZ ckn R dh vk;q Kkr
djsa ?
(a) 35 years (b) 40 years
(c) 30 years (d) 50 years

89. B was born when A was 4 years 7 months old
and C was born when B was 3 years 4 months
old. When C was 5 years 2 months old, then
their average age was ?

B dk tUe rc gqvk] tc A dh vk;q 4 o"kZ 7 ekg FkhA C
dk tUe rc gqvk] tc B dh vk;q 3 o"kZ 4 ekg FkhA tc C
dh vk;q 5 o"kZ 2 ekg Fkh] rc mudk vkSlr Kkr djsa ?
(a) 8 years 9 months (b) 7 years 3 months
(c) 8 years 7 months (d) 8 years 11 months

90. The average age of husband and his wife was 23
years at the beginning of their marriage. After
five years they have a one-year old child. The
average age of the family of three, when the child
was born, was ?

fookg ds le; ifr ,oa iRuh dh vkSlr vk;q 23 o"kZ FkhA
fookg ds 5 o"kZ mijkUr mudk ,d o"kZ dk cPpk gSA cPps
ds tUe ds le; ifjokj dh vkSlr vk;q Kkr djsa ?
(a) 23 years (b) 24 years
(c) 18 years (d) 20 years

91. Two years ago the average age of a family of 8
members was 18 years. After the addition of a
baby, the average age of the family is same today.
What is the age of the baby ?

2 o"kZ iwoZ ifjokj dh vkSlr vk;q 18 o"kZ Fkh] ftlesa 8 lnL;
FksA ,d cPps ds lfEefyr gks tkus ds ckn] ifjokj dh
orZeku vk;q leku gSA cPps dh orZeku vk;q Kkr djsa ?
(a) 2 years (b) 1½ years
(c) 1 years (d) 2½ years

92. From a class of 42 boys, a boy aged 10 years
goes away and in his place, a new boy is admitted.
If on account of this change, the average age of
the boys in that class increases by 2 months,
the age of the  newcomer is ?

fdlh d{kk esa 42 Nk=k gSa] ,d Nk=k ftldh vk;q 10 o"kZ gS
pyk tkrk gS rFkk mlds LFkku ij ,d u;k Nk=k lfEefyr
gks tkrk gSA ftlds dkj.k d{kk dh vkSlr vk;q 2 ekg c<+
tkrh gSA u;s Nk=k dh vk;q Kkr djsa ?
(a) 19 years (b) 17 years
(c) 10 years 6 month (d) 12 years 2 months

93. The average age of Ram and his two children is
17 years and the average age of Ram's wife and
the same children is 16 years. If the age of Ram
is 33 years, the age of his wife is (in years) ?

jke vkSj mlds nks cPpksa dh vkSlr vk;q 17 o"kZ rFkk jke dh
iRuh vkSj nksuksa cPpksa dh vkSlr vk;q 16 o"kZ gSA ;fn jke dh
vk;q 33 o"kZ gks] rks mldh iRuh dh vk;q Kkr djsa ?
(a) 31 (b) 32
(c) 35 (d) 30

94. The average age of A and B is 20 years. If A is to
be replaced by C, the average would be 19 years.
The average age of C and A is 21 years. The ages
of A, B and C in order (in years) are ?

A vkSj B dh vkSlr vk;q 20 o"kZ gSA ;fn A dks C ls
izfrLFkkfir fd;k tk;s] rks vkSlr 19 o"kZ gks tkrk gS rFkk C
,oa A dh vkSlr vk;q 21 o"kZ gS rks crk,a A, B rFkk C dh
vk;q D;k gksxh ?
(a) 18, 22, 20 (b) 18, 20, 22
(c) 22, 18, 20 (d) 22, 20, 18

95. In a family of 5 members, the average age at
present is 33 years. The youngest member is 9
years old. The average age of the family just before
the birth of the youngest member was ?

5 lnL;ksa ds ifjokj dh orZeku vkSlr vk;q 33 o"kZ gSA lcls
NksVs lnL; dh vk;q 9 o"kZ gSA lcls NksVs lnL; ds tUe ds
le; ifjokj dh vkSlr vk;q Kkr djsa ?
(a) 30 years (b) 29 years
(c) 25 years (d) 24 years

96. A man had 7 children. When their average age
was 12 years, a child aged 6 years died. Then
average age of remaining six children is ?

,d O;fDr ds 7 cPps gSaA tc mudh vkSlr vk;q 12 o"kZ Fkh]
,d cPpk ftldh vk;q 6 o"kZ Fkh ej tkrk gSA rc vU; 6
cPpksa dh vkSlr vk;q Kkr djsa ?
(a) 13 years (b) 10 years
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(c) 11 years (d) 14 years
97. If out of 10 selected students for an examination,

3 were of 20 years, 4 of 21 years and 3 of 22
years, the average age of the group is ?

10 fo|kfFkZ;ksa esa] 3 dh vk;q 20 o"kZ] 4 dh vk;q 21 o"kZ rFkk
3 dh vk;q 22 o"kZ gSA lHkh fo|kfFkZ;ksa dh vkSlr vk;q Kkr
djsa?
(a) 22 years (b) 21 years
(c) 21.5 years (d) 20 years

98. 3 years ago, the average age of a family of 5
members was 17 years. A baby having been born,
the average age of the family is same today. The
present age of the baby is ?

3 o"kZ igys] 5 lnL;ksa okys ifjokj dh vkSlr vk;q 17 o"kZ
FkhA ,d cPps dk tUe gqvk rFkk ifjokj dh orZeku vkSlr
vk;q leku gSA cPps dh orZeku vk;q Kkr djsa ?
(a) 1 year (b) 1½ years
(c) 2 years (d) 3 years

99. The frequency distribution data is given below.
If the average age is 17 years, the value of m is
Age (in years) : 8     20    26    29
Number of people : 3    2    m    1 ?

vkòfr fooj.k uhps fn;k x;k gSA ;fn vkSlr vk;q 17 o"kZ gks]
rks m dk eku Kkr djsa

mez (o"kks± esa) % 8    20    26    29

lnL;ksa dh la[;k % 3    2    m    1 ?

(a) 1 (b) 2
(c) 3 (d) 4

100. After replacing an old member by a new member,
it was found that the average age of five members
of a club is the same as it was 3 years ago. The
difference between the ages of the replaced and
the new members is ?

,d iqjkus lnL; dks u;s lnL; ls izfrLFkkfir djus ij Kkr
gqvk fd 5 lnL;ksa okyh laLFkk dh vkSlr vk;q 3 o"kZ igys
dh vkSlr vk;q ds leku gSA iqjkus rFkk u;s lnL; dh vk;q
dk vUrj Kkr djsa ?
(a) 2 years (b) 4 years
(c) 8 years (d) 15 years

101. Three years ago, the average age of a family of 5
members was 17 years. A baby having been born
the average age of the family is the same as three
years ago. The present age of the baby (in years)
is ?

3 o"kZ igys] 5 lnL;ksa okys ifjokj dh vkSlr vk;q 17 o"kZ
gSA ,d cPps dk tUe gksrk gS fiQj Hkh ifjokj dh orZeku
vkSlr vk;q ds leku gSA cPps dh orZeku vk;q Kkr djsa ?
(a) 2 (b) 2.4
(c) 3 (d) 1.5

102. The average of P, Q and R is 5 years more than
R's age. If the total age of P and Q together is 39
years, then R's age is ?

P, Q rFkk R dh vkSlr vk;q R dh vk;q ls 5 o"kZ vf/d gSA
;fn P ,oa Q dh dqy vk;q 39 o"kZ gks] rks R dh vk;q Kkr
djsa ?
(a) 12 years (b) 24 years
(c) 16 years (d) 14 years

103. The average age of 30 students of a class is 14
years 4 months. After admission of 5 new student
in the class the average becomes 13 years 9
months. The youngest one of the five new
students is 9 years 11 months old. The average
age of the remaining 4 new students is ?

,d d{kk ds 30 Nk=kksa dh vkSlr vk;q 14 o"kZ 4 ekg gSA
mldh d{kk esa 5 u, Nk=kksa ds izos'k ysus ds ckn vkSlr 13

o"kZ 9 ekg gks tkrk gSA ik¡p u, Nk=kksa esa lcls NksVk Nk=k 9
o"kZ 11 ekg dk gSA 'ks"k 4 u, Nk=kksa dh vkSlr vk;q fdruh
gS ?
(a) 10 years 4 months (b) 12 years 4 months
(c) 11 years 2 months (d) 13 years 6 months

104. Average age of seven persons in a group is 30
years, the average age of five persons of this group
is 31 years. What is the average age of the other
two persons in the group ?

,d xzqi esa lkr O;fDr;ksa dh vkSlr vk;q 30 o"kZ gSA ml xzqi
ds ik¡p O;fDr;ksa dh vkSlr vk;q 31 o"kZ gSA xzqi ds vU; nks
O;fDr;ksa dh vkSlr vk;q fdruh gS ?
(a) 55 years (b) 26 years
(c) None of these (d) 15 years

105. The average age of mother and her six children
is 12 years, which is reduced by 5 years if the
age of mother is excluded. The age of the mother
(in years) is ?

ek¡ vkSj mlds 6 cPpksa dh vkSlr vk;q 12 o"kZ gS tks ek¡ dh
vk;q dks u 'kkfey djus ij 5 o"kZ de gks tkrh gSA ek¡ dh
vk;q fdruh (o"kks± esa) gS ?
(a) 40 (b) 50
(c) 42 (d) 48

106. Average age of 6 sons of a family is 8 years.
Average age of sons together with their parents
is 22 years. If the father is older than the mother
by 8 years, the age of mother (in years) is ?

fdlh ifjokj esa 6 iq=kksa dh vkSlr vk;q 8 o"kZ gSA iq=kksa rFkk
ekrk&firk dh vk;q dk vkSlr 22 o"kZ gSA ;fn firk dh vk;q
ekrk dh vk;q ls 8 o"kZ vf/d gS rks ekrk dh vk;q (o"kks± esa)
Kkr djsa ?
(a) 44 (b) 52
(c) 60 (d) 68

107. 3 years ago, the average age of a family of 5
members was 17 years. A baby having been born,
the average age of the family is the same today.
The present age of the baby is ?

3 o"kZ igys] fdlh ifjokj ds 5 lnL;ksa dh vkSlr vk;q 17
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o"kZ gSA ,d f'k'kq dk tUe gqvk rFkk ifjokj dh orZeku
vkSlr vk;q leku jgrh gSA f'k'kq dh orZeku vk;q Kkr djsa?
(a) 3 years (b) 2 years
(c) 1½ years (d) 1 year

108. Average age of mother, father and son was 42 at
the time of marriage. After one year, an infant
was born and after 6 years of marriage the average
age of family becomes 36. Find the age of bride
at the time of marriage ?

'kknh ds le; ekrk] firk vkSj iq=k dh vkSlr vk;q 42 o"kZ
FkhA ,d lky ckn ,d cPps dk tUe gqvk vkSj 'kknh ds 6
o"kZ ds ckn ifjokj dh vkSlr vk;q 36 o"kZ gks tkrh gSA rks
'kknh ds le; iq=k&o/q dh vk;q Kkr djsa ?
(a) 26 years (b) 25 years
(c) 24 years (d) 23 years

109. The present average age of a family of four
members is 36 years. If the present age of the
youngest member of the family be 12 years, the
average age of the family at the birth of the
youngest member was ?

fdlh ifjokj ds 4 lnL;ksa dh vkSlr vk;q 36 o"kZ gSA ;fn
ifjokj ds lcls NksVs lnL; dh vk;q 12 o"kZ gS] rks ifjokj
dh vkSlr vk;q NksVs lnL; ds tUe ds le; D;k Fkh ?
(a) 48 years (b) 40 years
(c) 32 years (d) 24 years

110. The average of five numbers is 7. When three
new numbers are included, the average of the
eight numbers becomes 8.5. The average of the
three new numbers is ?

ik¡p la[;kvksa dk vkSlr 7 gSA tc rhu la[;kvksa dks lfEefyr
fd;k tkrk gS] vkB la[;kvksa dk vkSlr 8.5 gks tkrk gSA ubZ
rhu la[;kvksa dk vkSlr Kkr djsa ?
(a) 9 (b) 10.5
(c) 11 (d) 11.5

111. The average age of 9 students and their teacher
is 16 years. The average age of the first four
students is 19 years and that of the last five is
10 years. The teacher's age is ?

9 Nk=kksa rFkk vè;kid dh vkSlr vk;q 16 o"kZ gSA izFke 4
Nk=kksa dh vkSlr vk;q 19 o"kZ rFkk vafre 5 Nk=kksa dh vkSlr
vk;q 10 o"kZ gSA vè;kid dh vk;q gS ?
(a) 36 years (b) 34 years
(c) 30 years (d) 28 years

112. The average weight of five persons sitting in a
boat is 38 kg. The average weight of the boat
and the persons sitting in the boat is 52 kg. What
is the weight of the boat  ?

uko esa cSBs 5 O;fDr;ksa dk vkSlr otu 38 fdxzk- gSA uko rFkk
uko esa cSBs O;fDr;ksa dk vkSlr otu 52 fdxzk- gSA uko dk
otj Kkr djsa
(a) 228 kg (b) 122 kg
(c) 232 kg (d) 242 kg

113. The average monthly expenditure of a family is
Rs. 2,200 during first three months. Rs. 2,550
during next four months and Rs. 3,120 during
last five months of the year. If the total savings
during the year was Rs. 1,260, what is the average
monthly income ?

,d ifjokj dk vkSlr ekfld O;; izFke rhu ekg :i;s
2,200 gSA vxys pkj ekg dk :i;s 2,550 gS vkSj vafre
ik¡p dk :i;s 3,120 gSA ;fn iwjs o"kZ dh cpr :i;s 1,260

gks rks vkSlr ekfld vk; Kkr djks \
(a) Rs. 1,260 (b) Rs. 1,280
(c) Rs. 2,805 (d) Rs. 2,850

114. The average of 30 numbers is 40 and that of other
40 numbers is 30. The average of all the number
is ?

30 la[;kvksa dk vkSlr 40 rFkk vU; 40 la[;kvksa dk vkSlr
30 gSA lHkh la[;kvksa dk vkSlr Kkr djsa ?

(a) 34
2

7
(b) 35

(c) 34 (d) 34.5
115. The average of 20 numbers is 15 and the average

of first five is 12. The average of the rest is ?

20 la[;kvksa dk vkSlr 15 gSA ;fn izFke 5 la[;kvksa dk
vkSlr 12 gks] rks vU; la[;kvksa dk vkSlr Kkr djsa ?
(a) 16 (b) 15
(c) 14 (d) 13

116. Find the average of 1.11, 0.01, 0.101, 0.001, 0.11
?

1.11, 0.01, 0.101, 0.001, 0.11 dk vkSlr Kkr djsa ?
(a) 0.2664 (b) 0.2554
(c) 0.1264 (d) 0.1164

117. Out of 20 boys, 6 are each of 1 m 15 cm height,
8 are of 1 m 10 cm and rest of 1 m 12 cm. The
average height of all the them is ?

20 yM+dksa esa] 6 yM+dksa dh yEckbZ 1 ehVj 15 lseh] 8 dh
yEckbZ 1 ehVj 10 lseh rFkk cps yM+dksa dh yEckbZ 1 ehVj
12 lseh gSA lHkh yM+dksa dh vkSlr yEckbZ Kkr djsa ?
(a) 1 m 12.1 cm (b) 1 m 21.1 cm
(c) 1 m 21 cm (d) 1 m 12 cm

118. The average of 11 results is 50. If the average of
the first six results is 49 and that of the last six
is 52, the sixth number is ?

11 la[;kvksa dk vkSlr 50 gSA izFke 6 la[;kvksa dk vkSlr
49 rFkk 6 la[;kvksa dk vkSlr 52 gks] rks 6Bha la[;k Kkr
djsa?
(a) 48 (b) 50
(c) 52 (d) 56

119. Out of four numbers, the average of the first three
is 15 and that of the last three is 16. If the first
number is 19, the first is ?

4 la[;kvksa esa] izFke 3 l¡[;kvksa dk vkSlr 15 rFkk vafre 3
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la[;kvksa dk vkSlr 16 gSA ;fn vafre la[;k 19 gks] rks izFke
la[;k Kkr djsa ?
(a) 19 (b) 15
(c) 16 (d) 18

120. The aveage of nine number is 50. The average of
first five numbers is 54 and that of the last three
numbers is 52. Then the sixth number is ?

9 la[;kvksa dk vkSlr 50 gSA izFke 5 la[;kvksa dk vkSlr 54

rFkk vafre 3 la[;kvksa dk vkSlr 52 gks] rks 6Bha la[;k Kkr
djsa ?
(a) 30 (b) 34
(c) 24 (d) 44

121. The average marks obtained by 22 candidates in
an examination are 45. The average marks of
the first 10 candidates are 55 and those of the
last eleven are 40. The number of marks obtained
by the eleven candidate is ?

fdlh ijh{kk esa 22 izR;kf'k;ksa dk vkSlr 45 gSA izFke 10

izR;kf'k;ksa dk vkSlr 55 rFkk vafre 11 izR;kf'k;ksa dk vkSlr
40 gSA 11osa izR;k'kh ds vad Kkr djsa ?
(a) 45 (b) 0
(c) 50 (d) 47.5

122. The mean of 20 items is 55. If two items 45 and
30 are removed, the new mean of the remaining
items is ?

20 la[;kvksa dk vkSlr 55 gSA ;fn 2 la[;kvksa 45 ,oa 30 dks
gVk fn;k tk,] rks u;k vkSlr Kkr djsa ?
(a) 65.1 (b) 65.3
(c) 56.9 (d) 56

123. The average of 50 numbers is 38. If two numbers
namely 45 and 55 are discarded, the average of
the remaining numbers is ?

50 la[;kvksa dk vkSlr 38 gSA ;fn nks la[;kvksa 45 rFkk 55

dks fu"dkflr fd;k tk;s] rks cph gqbZ la[;kvksa dk vkSlr
Kkr djsa ?
(a) 35 (b) 32.5
(c) 37.5 (d) 36

124. In a pre school, the average weight of 30 girls in
a class among 50 students is 16 kg. and that of
the remaining students is 15.5 kg. What is the
average weight of all the students in the class ?

fdlh fo|ky; esa] 50 fo|kfFkZ;ksa dh d{kk esa 30 Nk=kkvksa dk
vkSlr Hkkj 16 fdxzk- rFkk vU; Nk=kksa dk vkSlr Hkkj 15.5

fdxzk- gSA iwjh d{kk dk vkSlr Hkkj Kkr dhft, ?

(a) 15.2 kg (b) 15.8 kg
(c) 15.4 kg (d) 15.6 kg

125. The average of 11 numbers is 63. If the average
of first six numbers is 60 and the last six
numbers is 65, then the 6th number is ?

11 la[;kvksa dk vkSlr 63 gSA izFke 6 la[;kvksa dk vkSlr
60 gks rFkk vafre 6 la[;kvksa dk vkSlr 65 gks] rks NBha
la[;k Kkr djsa ?

(a) 57 (b) 60
(c) 62 (d) 64

126. The average monthly expediture of a family for
the first four months is Rs. 2570, for the next
three months is Rs. 2490 and for the last five
months Rs. 3030. If the family saves Rs. 5320
during the whole years, the average monthly
income of the family during the year is ?

fdlh ifjokj dk vkSlr ekfld O;;] izFke pkj ekg ds fy,
:i;s 2570] vxys rhu ekg ds fy;s :i;s 2490 rFkk
vafre ik¡p ekg ds fy, :i;s 3030 gSA ;fn ifjokj iwjs o"kZ
esa :i;s 5320 cpkrk gS rks ifjokj dh iwjs o"kZ dh vkSlr
ekfld vk; Kkr djsa  ?
(a) Rs. 3000 (b) Rs. 3185
(c) Rs. 3200 (d) Rs. 3580

127. A man spends Rs. 1800 monthly on the average
for the first four months and Rs. 2000 monthly
for the next eight months and  save Rs. 5600 a
year. His average monthly income is ?

,d O;fDr vkSlru :i ls izFke pkj ekg :i;s 1800 izfr
ekg [kpZ djrk gSA vxys vkB ekg :i;s 2000 izfrekg
[kpZ djrk gS ,oa iwjs o"kZ esa :i;s 5600 cpkrk gSA mldh
vkSlr vk; Kkr djsa ?
(a) Rs. 2000 (b) Rs. 2200
(c) Rs. 2400 (d) Rs. 2600

128. The average salary of all the workers in a
workshop is Rs. 8,000. the average salary of 7
technicians is Rs. 12,000 and the average salary
of the rest is Rs. 6,000. The total number of
workers in the workshop is ?

fdlh dk;Z'kkyk esa deZpkfj;ksa dh vkSlr vk; :i;s 8,000

gSA 7 rduhfd;ksa dh vkSlr vk; :i;s 12,000 rFkk cps gq,
deZpkfj;ksa dh vkSlr vk; :i;s 6,000 gSA dk;Z'kkyk esa
dqy deZpkfj;ksa dh la[;k Kkr djsa ?
(a) 20 (b) 21
(c) 22 (d) 23

129. The average of 50 numbers is 38. If two numbers,
namely 45 and 55 are discarded, the average of
the remaining numbers is ?

50 la[;kvksa dk vkSlr 38 gSA ;fn nks la[;kvksa 45 rFkk 55

dks fu"dkflr fd;k tk,] rks cph la[;kvksa dk vkSlr Kkr
djsa ?
(a) 37.5 (b) 37.9
(c) 36.5 (d) 37.0

130. The average of six numbers is 20. If one number
is removed, the average becomes 15. What is the
number removed ?

6 la[;kvksa dk vkSlr 20 gSA ;fn ,d la[;k dks gVk fy;k
tk,] u;k vkSlr 15 gks tkrk gSA gVkbZ xbZ la[;k Kkr djsa?
(a) 5 (b) 35
(c) 112 (d) 45
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131. Out of four members the average of the first three
is 16 and that of the last three is 15. If the last
number is 20 then the first number is ?

pkj la[;kvksa esa ls igyh 3 la[;kvksa dk vkSlr 16 gS vkSj
vafre rhu la[;kvksa dk vkSlr 15 gSA ;fn vafre la[;k 20

gS] rks igyh la[;k Kkr djsa ?
(a) 25 (b) 21
(c) 23 (d) 28

132. The average of 7, 11, 15, x, 14, 21, 25 is 15, then
the value of x is ?

7, 11, 15, x, 14, 21, 25 dk vkSlr 15 gS] rks x dk eku
Kkr djsa ?
(a) 3 (b) 14.5
(c) 12 (d) 13.3

133. The average of six numbers is 3.95. The average
of two of them is 3.4, while the average of the
other two is 3.85. The average of the remaining
two numbers is ?

Ng la[;kvksa dk vkSlr 3.95 gSA muesa ls nks dk vkSlr 3.4

gSA tcfd vU; nks la[;kvksa dk vkSlr 3.85 gSA 'ks"k nks
la[;kvksa dk vkSlr fdruk gS ?
(a) 4.6 (b) 4.8
(c) 4.5 (d) 4.7

134. Six numbers are arranged in decresing order. The
average of the first five number is 30 and the
average of the last five numbers is 25. The
differences of the first and the last number is ?

Ng la[;k,a vojksgh Øe esa O;ofLFkr dh xbZA izFke ik¡p
la[;kvksa dk vkSlr 30 gS vkSj vafre ik¡p la[;kvksa dk
vkSlr 25 gSA izFke vkSj vafre la[;kvksa dk varj D;k gS ?
(a) 5 (b) 20
(c) 25 (d) 30

135. The average of 12 numbers is 15 and the average
of the first two is 14. What is the average of the
rest ?

12 la[;kvksa dk vkSlr 15 gS vkSj igyh nks la[;kvksa dk
vkSlr 14 gSA 'ks"k la[;kvksa dk vkSlr D;k gS ?

(a) 15
1

5
(b) 14

(c) 11
1

5
(d) 15

136. The average expenditure of a man for the first
five months is Rs. 1200 and for the next seven
months is Rs. 1300. If he saves Rs. 2900 in that
year, his monthly average income is ?

,d O;fDr dk igys ik¡p eghuksa dk [kpZ :i;s 1200 gS vkSj
vxys lkr eghuksa dk [kpZ :i;s 1300 gSA ;fn og ml o"kZ
esa :i;s 2900 dh cpr djrk gS rks mldh ekfld vkSlr
vk; fdruh gS ?
(a) Rs. 1600 (b) Rs. 1700
(c) Rs. 1400 (d) Rs. 1500

137. The average of 13 results is 70. The average of
first seven is 65 and that of the last seven is 75,
the seventh result is ?

13 ifj.kkeksa dk vkSlr 70 gSA izFke lkr dk vkSlr 65 gS
vkSj vafre lkr dk vkSlr 75 gSA lkroka ifj.kke D;k gS ?
(a) 70 (b) 67
(c) 70.5 (d) 68

138. The average income of 40 persons is Rs. 4200
and that of another 35 persons is Rs. 4000. The
average income of the whole group is ?

40 O;fDr;ksa dh vkSlr vk; :i;s 4200 gS rFkk vU; 35

O;fDr;ksa dh vkSlr vk; :i;s 4000 gS] lHkh O;fDr;ksa dh
vkSlr vk; Kkr djsa ?

(a) 4100 (b) 4106
1

3

(c) 4106
2

3
(d) 4108

1

3

139. The average of the marks obtained in an
examination by 8 students was 51 and by 9 other
students was 68. The average marks of all 17
students was ?

8 fo|kfFkZ;ksa ds vadksa dk vkSlr 51 gS rFkk vU; 9 fo|kfFkZ;ksa
ds vadksa dk vkSlr 68 gSA lHkh fo|kfFkZ;ksa ds vadksa dk vkSlr
Kkr dhft,
(a) 59 (b) 59.5
(c) 60 (d) 60.5

140. The average of five numbers is 27. If one number
is excluded, the average becomes 25. The
excluded number is ?

ik¡p la[;kvksa dk vkSlr 27 gS] ;fn ,d vad gVk fn;k tk;s]
vkSlr 25 gks tkrk gSA gVkb;h x;h la[;k gS ?
(a) 25 (b) 27
(c) 30 (d) 35

141. A company produces an average of 4000 items
per month for the first 3 months. How much
items, it must produce on an average per month
over the next 9 months to average 4375 items
per months over the whole year ?

,d daiuh 4000 oLrq,¡ izfr ekg dh nj ls 3 ekg rd cukrh
gSaA ml daiuh dks vxys 9 ekg rd fdruh oLrq,¡ izfr ekg
dh nj ls cukuh gksaxh] ftlls iwjs o"kZ dk vkSlr 4375 oLrq,¡
izfr ekg gks tk;sa ?
(a) 4500 (b) 4600
(c) 4680 (d) 4710

142. The average of 9 numbers is 30. The average of
first 5 numbers is 25 and that of the last 3
numbers is 35. What is the 6th number ?

9 la[;kvksa dk vkSlr 30 gSA izFke 5 la[;kvksa dk vkSlr 25

gS ,oa vafre 3 la[;kvksa dk vkSlr 35 gS] NBha la[;k Kkr
djsa ?
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(a) 20 (b) 30
(c) 40 (d) 50

143. If the average marks of three batches of 55, 60
and 45 students respectively is 50, 55 and 60,
then the average marks of all the students is ?

rhu lewg ftuesa 55, 60 ,oa 45 fo|kFkhZ mifLFkr gSa dk
vkSlr 50, 55 ,oa 60 gSA rks lHkh fo|kfFkZ;ksa dk vkSlr Kkr
djsa ?
(a) 54.68 (b) 53.33
(c) 55 (d) None of these

144. The average of 30 results is 20 and the average
of other 20 results is 30. What is the average of
all the results ?

30 ifj.kkeksa dk vkSlr 20 gS rFkk vU; 20 ifj.kkeksa dk
vkSlr 30 gSA lHkh ifj.kkeksa dk vkSlr Kkr djsa ?
(a) 24 (b) 48
(c) 25 (d) 50

145. The average of 15 numbers is 7. If the average of
the first 8 numbers be 6.5 and the average of
last 8 numbers be 9.5, then the middle number
is ?

15 la[;kvksa dk vkSlr 7 gSA ;fn izFke 8 la[;kvksa dk vkSlr
6.5 ,oa vafre 8 la[;kvksa dk vkSlr 9.5 gks rks eè; la[;k
Kkr djsa ?
(a) 20 (b) 21
(c) 23 (d) 18

146. The average age of 15 students of a class is 15
years. Out of these the average age of 5 students
is 14 years and that of the other 9 students is
16 years. The age of the 15th students is ?

fdlh d{kk esa 15 fo|kfFkZ;ksa dk vk;q dk vkSlr 15 o"kZ gSA
ftlesa 5 fo|kfFkZ;ksa dk vkSlr 14 o"kZ rFkk vU; 9 fo|kfFkZ;ksa
dk vkSlr 16 o"kZ gSA 15osa fo|kFkhZ dh vk;q Kkr djsa ?
(a) 11 years (b) 15 years

(c) 15
2

7
 years (d) 14 years

147. The average of 8 numbers is 20. The average of
first two numbers is 15½ and that of the next

three is 21
1

3
. If the sixth number be less than

the seventh and eight numbers by 4 and 7
respectively, then the eight number is ?

8 la[;kvksa dk vkSlr 20 gSA ftlesa izFke nks la[;kvksa dk

vkSlr 15½ rFkk vU; rhu la[;kvksa dk vkSlr 21
1

3
 gSA ;fn

6Bha la[;k] 7oha rFkk 8oha la[;k ls 4 rFkk 7 de gks] rks 8oha
la[;k Kkr djsa ?
(a) 18 (b) 22
(c) 25 (d) 27

148. The average of 20 numbers is 12. The average of
the first 12 numbers is 11 and that of the next 7
numbers is 10. The last number is ?

20 la[;kvksa dk vkSlr 12 gSA ftlesa izFke 12 la[;kvksa dk
vkSlr 11 rFkk vU; 7 la[;kvksa dk vkSlr 10 gks] rks vafre
la[;k Kkr djsa ?
(a) 40 (b) 38
(c) 48 (d) 50

149. The average age of 5 boys is 12 years. The average
age of 3 others is 16 years. The average age of all
the 8 boys is ?

5 yM+dksa dh vk;q dk vkSlr 12 o"kZ gSA vU; 3 yM+dksa dk
vk;q dk vkSlr 16 o"kZ gSA lHkh 8 yM+dksa dh vk;q dk vkSlr
Kkr djsa ?
(a) 13½ years (b) 14 years
(c) 12½ years (d) 13 years

150. The average age of 40 students of a class is 15
years. When 10 new students are admitted, the
average is increased by 0.2 years. The average
age of the new students is ?

fdlh d{kk esa 40 fo|kfFkZ;ksa dk vkSlr 15 o"kZ gSA tc 10

u;s fo|kFkhZ lfEefyr gksrs gSa] vkSlr 0.2 o"kZ c<+ tkrk gSA
u;s fo|kfFkZ;ksa dh vkSlr vk;q Kkr djsa ?
(a) 15.2 years (b) 16 years
(c) 16.2 years (d) 16.4 years

Answer Sheet

1. (b) 2. (b) 3. (c) 4. (b) 5. (d) 6.  (b) 7. (d) 8. (c) 9. (b) 10. (d)

11. (d) 12. (c) 13. (b) 14. (a) 15. (d) 16. (a) 17. (b) 18. (d) 19. (b) 20. (c)

21. (b) 22. (c) 23. (c) 24. (c) 25. (d) 26. (c) 27. (c) 28. (c) 29. (a) 30. (c)
31. (a) 32. (a) 33. (d) 34. (b) 35. (c) 36. (b) 37. (a) 38. (b) 39. (a) 40. (a)
41. (c) 42. (b) 43. (c) 44. (a) 45. (c) 46. (a) 47. (d) 48. (a) 49. (c) 50. (d)
51. (c) 52. (c) 53. (c) 54. (c) 55. (b) 56. (c) 57. (a) 58. (c) 59. (c) 60. (d)
61. (a) 62. (a) 63. (b) 64. (c) 65. (a) 66. (b) 67. (c) 68. (c) 69. (d) 70. (b)
71. (a) 72. (d) 73. (a) 74. (a) 75. (d) 76. (d) 77. (b) 78. (a) 79. (b) 80. (d)
81. (d) 82. (b) 83. (b) 84. (b) 85. (b) 86. (b) 87. (d) 88. (c) 89. (d) 90. (c)
91. (a) 92. (b) 93. (d) 94. (c) 95. (a) 96. (a) 97. (b) 98. (c) 99. (a) 100. (d)
101. (a) 102. (a) 103. (a) 104. (c) 105. (c) 106. (c) 107. (b) 108. (b) 109. (c) 110. (c)
111. (b) 112. (b) 113. (c) 114. (a) 115. (a) 116. (a) 117. (b) 118. (d) 119. (c) 120. (c)
121. (b) 122. (c) 123. (c) 124. (b) 125. (a) 126. (b) 127. (c) 128. (b) 129. (a) 130. (d)
131. (c) 132. (c) 133. (a) 134. (a) 135. (a) 136. (d) 137. (a) 138. (c) 139. (c) 140. (d)
141. (a) 142. (c) 143. (a) 144. (a) 145. (c) 146. (a) 147. (c) 148. (b) 149. (a) 150. (b)


